® GCOS

KEEPING WATCH OVER OUR CLIMATE What can GCOS contribute to achieve

the Paris Agreement?

‘ How to reduce the carbon footprint of GCOS?

For the SC-26 2018: Michael Zemp
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GCOS intro: o
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GCOS reduction concept: o
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How to reduce our carbon footprint? E 8 .LQ

« Start monitoring
» Set reduction goals

« Take reduction measures
 Implement 2000-watt office

"« Reduce air miles

 Develop new meeting culture
L y

« Offset baseline emissions

Communicate good examples




GCOS examples: o

GLOBAL CLIMATE OBSERVING SYSTEM

How to reduce our carbon footprint?

Example: air miles monitoring & reduction goals

Air travels of WGMS-team 2010-17: on average 3.3 t per year and capita Air travels of WGMS-team 2010-17: on average 20 t per year

4000

CO2 equivalents (kg)

Goal: (1) stabilize et 20 t per year
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Goal: (2) reduce to minimal travel requirement

2011 2012 2014 2015



examples:

How to reduce our carbon footprint? E . .

Example: general assembly of national correspondents

=> air miles reduction by 50%
=> same budget
=> petter focus on regional issues



GCOS examples: o

GLOBAL CLIMATE OBSERVING SYSTEM

How to reduce our carbon footprint?

ai» |25

Example: WMO air travel policy

Carlson

Wagonlit
Travel

Your Itinerary

Zurich — Beijing, Beijing — Hangzhou
Hangzhou — Beijing, Beijing — Zurich
Travel time: 32 hours Reimbursement regulations

Costs: 1,400 CHF dt id logical

CO2-emissions: 1,924 kg need to consider ecologica
criteria and get rid of current

«cheap flight» obsession.

Zurich — Shanghai, bullet train Shanghai - Hangzhou
bullet train Shanghai — Hangzhou, Shanghai - Zurich
Travel time:

Costs: 1,940 CHF

CO2-emissions:




GCOS discussion: o
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How to reduce the E .lg
GCOS carbon footprint?

e Start monitoring
» Set reduction goals

« Take reduction measures
* Implement 2000-watt office
 Reduce air miles
 Develop new meeting culture

« Offset baseline emissions

 Communicate good examples



GCOS reduction concept: o
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How to reduce our carbon footprint? E 8 .LQ

« Start monitoring
» Set reduction goals

« Take reduction measures
 Implement 2000-watt office

"« Reduce air miles

 Develop new meeting culture
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« Offset baseline emissions

Communicate good examples
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